Equal 9 step grey scaling betweeb* gan=—71 & L*ganw=71.5, Yoret=1, normalisation white W

L*0anm—71.4,L*0270.0, L*0anF 71.5, Yoan=2.0, Yoa=20.0, Yoaw=200.0,Coay=Yoaw: Yoan=100.0
L*tan==59.0,L*tay=1.4, L*tan~71.5,%tan=3.0, ¥au=20.9, %;an=200.0,Gay=Yiaw: Ytan=67.0
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps

g* = 100 AL* min] / [AL* max], L* TuBLOG,Ua = 50/ Iog(5) [log (Y/Yy) ] with Y,=20

g%= 100, g’y= 99 9= 78, g%y= 73 g%= 98, g%5= 96
L*TuBLOG,Ua intended output real output linearized output
n0.i L*0a L*Or YOa YOr : L*a Al*a L*r Yta (L*r) 111 L*Ia AL*la

70*09 715 1.0  200.0 10 715 1.0 2000 1.0 15
17.8 16.1
8 536 0.875 1125 0.558 53.8 0.864 112.9 0.877 55.4
: 17.7 16.3
35+ 7 358 075 632 0.309 36.1 0.729 63.9 0.752 39.1
3 17.5 16.4
6 17.9 0625 356 0.169 186 0.595 36.4 0.626 227
3 17.2 16.5
0*‘5 00 05 200 0.091 14 0.463 20.9 05 6.2
: 16.7 16.5
.4 -17.8 0375 11.2 0.047 -15.3 0.334 122 0.373 -10.3
16.0 16.4
—35*.3 -35.7 025 63 0022 -313 0.212 7.3 0.248 -26.6
3 14.7 16.0
.2 -53.6 0.125 3.5 0.008 -46.0 0.099 4.5 0.125 -42.7
; 13.0 16.3
—70A.1 -714 00 20 00 : -59.0 0.0 30 0.0 -59.0

. : Y
*o = = ! normalisation: Yy =Yoayy0ait Yoref
DL*gF17.9  (=1.2,..8) | taiw=Yoawy 22l COrer
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